Lecture 6 | - (/

Lnr:?totun'ivariate(-w) | Ué/ é%M % / Kp[)() X\ f /45%/"/4 fé!”{ Qurﬁ/q [/(Jl/ /\om/’C cLnN SO/ ] /U()/ /4/“//4

pesot mmimaers | & QL Prmmea ) o pois PN e iU - Locd Mo Lo0): C [-x)Cpe-11-

- Recognizing a min i | [/44/1 //4 uv // (0) = e ?j

_ TaonSs the%rem IIIIII (@ | /l § @mz ’ 0 / F jj/ a I/ | [i{ %4- N r Zt (

sl WY VAR N i o B I T =

B gwé h Og’f"‘%’m 0 ghld muinas 1 L1)- x}"") ivé%ﬁﬂ Lo % " W,\/W a & 7 Wéﬂ — T [ < e e N /

o ;ln MQSLLff /,%UML ﬁ* Q?Z' (/ ML - /1 V‘f/ Vf/\ - } 1 / @/Ch) < vﬂf/b) _ YN /

ye.
Lol x o e donand § i ”7 :&;J ‘ é[kf) o / > <

e / g ~ > Shont
| MLO z 93[4 Lol e " (2 Sorme Hick — %/

op reighly fod X



2»/ o/ el Neeroon, (2 nllihs
L OC) =0 vﬂ [/U) >0

Q)o #) = ﬂ@ﬁjd‘/ﬁ/f/f[)cfm

. /
QX ”LZ/%‘[)O %A()

7 2 0.
0
= {let) 2o

\

S%W Conlit-

J% {00 =0

FiCx) 20
faﬁ_\ )C/'r Cr ZO—O\/ /‘1‘1
P[)C%):v[@/f)ng_:[”(/&ocl)

20 > 0

,W%W

‘ng): i

\

|
{io) =0 L~
£roy =0 (-



